N{¥ZAG

Antriebstechnik

.....".
8. Twin.Spin®
®eq0®




......... .

¢ TwinSpin®

.. ..
Product charakteristics Soe¢

2.1 GSERIES

L JOX )

Advantages
- high tilting stiffness - reduced lost motion settings
- low friction - high torque overload capacity

- high precision output bearing
- high torque density

The G series a new generation of TwinSpin® high precision reduction gears with a new design of the main
bearing and improved performance for the most demanding applications. G series brings increase in torque
to weight ratio in comparison with the previous generation. Innovative design of main bearing reaches
unprecedented tilting stiffness, high precision of the output bearing and modularity of design which allows
customised solutions. Further improvements introduced with G series brings further friction reduction in
transmission mechanism, lower hysteresys and low settings of Lost Motion, especially in small sizes. Finally with
G series new sizes of reducers are introduced in standard and hollowshaft design to broaden portfolio and
application range of TwinSpin® reducers.

Tab. 2.1a: G series features

Case Through holes in case

The shaft sealing / adapter flange is offered in the following versions:
a) motor connection flange

b) sealed input cover

c) without a flange

Input flange connection

The input shaft is offered in the following versions:
Input shaft design a) shaft with a keyway
b) according to a special request

Installation and operation characteristics A wider range of modular configurations

22 S0200 SPINEA NiZAG



(1}
... ...
¢ TwinSpin®
) (]
...... . o .
Ordering specifications

Tab. 21b: G series ordering specifications

G series

sececee
secscee
sececse

Shaft version
Name Size Ratio Series version

P (DIN 6885) S
75 41, 63,75 G 9 .
85 33,63, 79 G n .
95 43,73, 95 G 14 .
TS 15 43, 69,123 G 14 .
155 63,109, 133 G 19 .
185 57, 67,117,139 G 24 o
225 55, 69,137 G 24 .

Note: An example of an ordering code of a modified TwinSpin® G series reduction gear with a motor flange
TS225 - 55 -G- P24 - M235 - P231. The markings M235 and P231 for a specific modification are defined by the manufacturer.

Shaft version

a Shaft with a keyway a Special shaft

Note: Drawings shows maximum possible size of key-way applicable in each size of TwinSpin® reducer

NiZAG S0200 SPINEA 23



Technical data

R a0
Twm.Spln

Tab. 21c: G series rating table

Size

TS 75

TS 85

TS 95

TST15

TS 155

TS 185

TS 225

Reduction ratio

63
75
33
63
79
43
73
95
43
69

63
109
133
57
67
n7
139
55
69
137

Rated output torque

T, [INm]

35

75

85

173

460

780

1270

Max. acceleration /
deceleration torque

T _[Nm]

acc

70

150

170

346

1150

1950

3175

Maximum permissible torque

at emergency / E-stop

T, INm]

175

375

425

865

2300

3900

6 350

Rated input speed

n, [rpml

2 000

2 000

2 000

2 000

2 000

2 000

2 000

RIGHT TO CHANGE WITHOUT PRIOR NOTICE RESERVED

Maximum input speed 9)

L [rpm]

4 800
5 000
5400
4 400
4 800
5 000
4 000
4500
4800
4200
4300
4 800
3400
3800
4200
3500
3700
4300
4 400
3200
3400
4 000

Lost motion

LM [arcmin]

<1

<1

<l

<]

|

<]

<]

1) Mean statistical value. For further information see chapter Torsional stiffness, Tilting stiffness.

amax

Load at output speed 15 rpm and L, =12 000 hrs.
Moment M_value for F_ = 0. If F, # O, see chapter 3.5.
Axial force F

value for M_=0. If M_# O see chapter 35.

)
)
)
5) The parameter depends on the version of the high precision reduction gear.
)
)
)
)

The parameter depends on the version of the high precision reduction gear, ratio and lost motion.

The values of the parameters are informative. The exact value depends on the specific version of the high precision reduction gear.
Temperatures of the high precision reduction gear lower than 20°C will cause higher no-load starting or back driving torque.
Instantaneous speed peak that may occur within the working cycle.

Hysteresis

H [arcmin]

<]

<]

<1

<]

<]

<]

Angular transmission

error 6)

[arcsec]

72

72

72

60

40

30

30

No-load starting torque (max.)

0.25
02
02

0.35
03
03
05

0.45
04
038
0.6
0.6
14
14
12

18
15
14

24

20200 SPINEA

N{(ZAG



0%,

°
TwinSpin®
°

.....

Technical data

Tab. 2.1c: G series rating table - continued

w
. Q
(e0] —
3 8 = §
o %) 3 [}
8 Y o &) e 5 ° S
o 2 e > c = o = _
g = £7 g £ g 8 P
- e e = 2 I o b G =
5 2 3 ° i & = 3 £ <
g 3 . 3 g g g g s 2 g
® & > © 3 = e E < < < =
i [Nm] K, [Nm/arcmin] M, [Nm/arcmin] M_INm] M, . INm] F o [kN] F. e [KNT 110 kgm?]  m [kg]
41 5 81
TS 75 63 8 82 70 95 87 18 57 0.019 0.95
75 10 84
33 5 95
TS 85 63 15 10.8 90 168 168 32 10.2 0.034 1.7
79 20 10.8
43 20 15
TS 95 73 27 153 120 205 410 35 1.1 014 19
95 38 155
43 18 3]
TS 115 69 30 31 220 275 550 4 125 0.29 32
123 42 32
63 50 85
TS 155 109 80 88 900 820 1640 83 261 0.96 74
133 15 90
57 85 147
67 90 148
TS 185 1300 1700 3400 13.9 43 198 12.8
nz 120 150
139 135 152
55 60 258
TS 225 69 80 300 2 300 2190 4 380 152 474 32 216
137 230 308

IMPORTANT NOTES:

Load values in the table are valid for the nominal life of L, = 6 000 [Hrs]..

High precision reduction gears are preferred for intermittent cycles (S3-S8): the output speed in applications is inverted-variable.
The continuous mode cycle (S1) is needed to be consulted with the manufacturer.

If the output speed in application is less than 0,1 rom please consult with the manufacturer.

The values in the table refer to the nominal operating temperature.

Please note the temperature on the gear case that should not exceed significantly 60°C.

The ratios highlighted in bold are recommended by SPINEA as optimal versions in terms of price and delivery.

NiZAG S0200 SPINEA 25



Drawings

........
3. Twin.Spin®
% eeo®

TS75-i-G-P9

>
N
=
= ©
- o |
L <C ::““. <C
© g\ .
w V\’\\?i} .
o2 . 5
<
| o3
(UiBua) Buriny wwye) (09U sLP -
(43LIWVIQ ONILLIA ON) Y08 e | 2
B [ad
(59 )Jau 99 =
(1209 )LH 0EQD =
og LN OO{
= Sl S 7
~3 X XXX X
E I
j b] 4 N ‘
~N m T
o | ‘ |
=~ o
v il I T ' i
— !
B | ﬂ‘ =
[ T o
1] a 8
5 ‘ 0l og Z
(403 )LH 6 o \ =
B - O
(<08 )y sl A o o
= )
<t (co'S. JLH 79508 o =
B —
< 029 2 %
(Uibua) Bury wwe) (09 )y 9 | O
S
(o)) 2
a8 =
w
| = o
| =
o a
I
LN "2
I~ 52
(7)) o —
- e (G99 Jesr €
>
L 00 &
N

mM
>
()
oD
—
a
—
O

=©)

Projection

1043

)

0.03
0.06

Main ring must be fixed in operation with 18pcs of screw M3, st 12.9, tightening torque 2.2 Nm
Recommended tolerance for fitting diameter (¢56.4 -

2. Unsealed space, see assembly manual in catalogue TS G
RECOMENDATION FOR SEALING MOTOR FLANGE:

1.

20200 SPINEA

N{(ZAG



(1}
... ...
TwinSpin®

Drawings

TS85-i-G-PM

Sa142s b

uonasfoid

©>

-~

=

M3IA 30IS LNdNI

1

(259 £99) 48319WElP BUIll 104 DIURID|O0} POPUSILIODDY

‘AONV14 dOLOW DNITVIS dO4 NOILVANIINOD3d

D Sl @nbojeled Ul [enuew Ajquiasse asas ‘aoeds psjeasun -

WIN |'S ®nbiol Buiusiybil ‘6z 1S ‘N Ma4ds Jo sodg| Yyim uoiiesado ul paxiy g 1snw Bull uiejp

5872
IXEW ONid 110
|
| .
L 5
0-0 (gvod. JLH LB 5
L€ £2
9 S
SIX89 ONI9-0 J09 3IA00D
ONTS NIVA ; \ J01S LNdNT WOSd G3T73SNN
N \‘\“\\ 7 P«\vw,: 0
S - = < - e N
& W N S 02 7 ~“Q
= |- e e N
=2 A 3 G \“ﬂﬂﬁ, S
So 57| | €@ 66 - k.n. 2
g 128 175 SNiSY S ~ \
MEEE . s |2 e > /g ﬂ' O
I EYE ———— | [glz|E° ol
El by PN I I So Lo oo |2 { A
= |o |= [T oeg - = \
o — 0 -y
S |z E E D
g LS |ot =
ElE -3 !
S ﬁ O GXGWX 71
o [9 919 g
_ e ARTAS]
V-V TIE
A4S
615

lld-O-1-S8Sl

20200 SPINEA 27

NL$ZAG



..
Twin.Spin®
%000’

TS95-i-G-Pl4

Drawings

uonzsfoid (2557 1L9) Jo10Wielp Builily JO) 9DURIS|0} POPUSLLIIOISY
@ _U ‘ADONV1d HOLOW DNITVIS 404 NOILVANINOD3d
D S1 @nBojeied Ul [enuew Ajquuasse 99s ‘@oeds pajeasun

WIN |'S ®nbiol Buiuaiybil ‘6ZL 1S N Ma4s Jo sodg| yim uoliesado ul paxiy g 3snwi Bull UleiN

.70

€W 9n1d 110 7 o

— L7 , W

3 0-0 44 =

(g0 JLH 1L 33

1:Z
d
7X0L ONT9-0 904 370099 \ 301S INdNT W34 03TV3SNN
ONTS NIVW o
<
e RS
1 Tk
Sl 2
vl | o (=]
- |5 7 —
|2 767 =l
=l Y 82 2o
g |z < IS g
BEIHEE SN =S le (5
3|z = _ N e
3| =& = 9 - — - — - — -1 @® |3 3
= g _ | g ol
S5 E7|8 - |0 |2
Z |2 > QT =
o | 8¢ = [
~ | = = —
m | ™ - ™
& |m 1 = &
— | + —
= °g_1 =
co 198 TEL L
13 S0z ¢S
7765 Y

M3IA 30IS LNdNI

e

7ld-O-1-S6S1

N{(ZAG

20200 SPINEA

28




S91495 U
% 3 Lonsfoid (299" Z069) 4219WiElP BUMIY 40} SDUEIS|0) PEPUSULIOISY
M o @ _U *‘AONV1d dOLO DNITVIS 404 NOILVANIINOD3IY
p 1 D S1 enBbojeied Ul [enuew Ajquuasse 99s ‘aoeds pajeasun -
D r_u WIN |'S ®nbiol Buiusiybil ‘6z 1S ‘N Ma4ds Jo sodg| Yyim uoiiesado ul paxiy g 1snw Bull uiejp
1
1))
= g
IS
V\ p
._w NEE XD
I
7 1
| .
2
(o3 )LH 1 MN 33
NIRRT §'LX%6 ONId-0 04 3IA00D
. ey J\H‘m \ 301S LNdNI WOd4 d31v3ISNN ——
. ! O~ Y 9
£ :
A
....m... ASS S FOtwﬁ Mx
s 33 S w CF) g
o F o =5 Lo =
%00® = oo \_ Be -~
e B I i o] e
15|38 F|e s
Slolz 4 [ I SN 8] =~
S| =2 TeN— " " "71 2|5 S
HEI - Lt i)
B 1 2| e |2
S |@ I_ < 2 Et
S| = 9GS = =
— = . —
T [FoLe 3 5
ek ] o5 E
- ——— 1! ‘WM
F-GAG ZWX 0L | | e
v SOS9 L L8 g
Qv
o SE _
— Vv
MIIA 301S 1NN 90779
d-9
7Id-O-1-SlLLS1

29

20200 SPINEA

NL$ZAG



uopasfold (299 ¢cz19) 1e18Wielp Bullly 10} 8DURIS|O) POPUBWILIODSY
@ U ‘IDNV14 HOLOW DNITVIS 404 NOILVANINODIH
D S1 @nbojejed Ul [enuew Ajquuasse aas ‘@oeds pajeasun -

WIN #'8 enbuiol buluslybil ‘6'ZL IS ‘SN Ma4s Jo s2dgz YHm uoijesado Ul paxily 8q 1snwd Bul uley

A

UV3dHy
AJ8W3SS s g

oy

AW
]

Josr 9

§0'0-
SL0" 0+

%
L]

(

44 ,
v (202 )LH 618 s
o 1200+
e SW%@Q £X820 ON19-0 907 3A0039 d
= "8z
o
oo, ONT NTVA 301S INANT WO93 QI TVISNN
o S % -
SE 11059
R St >
%eees® o
Q| .
S & “rg09 S
ola| ° &
=2 (80 3
ez [8)s RGN Y 1=V N O <1
_12|3|3 SIS e~
" Il B [ [ | g e o) 1
S SE SH = | 5|95 o
S It _ ol 2|3 0
= - r bolalsa| 2 0
4 Bl g S el |E <
- |O = -
2|z 9| 2
: |3 ERR I
EHE E
Edlng mE
.OIJ o e IR
o S
1
v « O GGG ATHX 0L SO F%  TEIOL O 078y
n_u ER . T T E ASWRE!
ol T 97
5| 1n MIIA 301S LNANI - vy
= | n d-9
2| = 6778
SR 6ld-D-1-SSLS1L
(&) - H

N{(ZAG

20200 SPINEA

30




S2149s b
% % ucnasfold (395 #'L919) 1o19WeElp Bu1ly 10} 8oURIB|0) POPUBUILUIOIDY
£ o @ U ‘ADONVTd HOLOW DNITVIS 404 NOILVANINOD3d
M 1 D S1 enBbojeied Ul [enuew Ajquuasse 99s ‘aoeds pajeasun -
m (&) WIN %] &nbJiol Buiualybil ‘6'Z1 IS ‘9N M3Js Jo sOAQg Ym uoiresado Ul paxij 89 3snwi Buls uley
1
1
Ty
0 d
—
()]
=
86012
|
|
LXLW BN1d 110 - — -
b e |
0-0 | -
d (1200 JLH 7288 A
g [
v EE
- goumuowiom
@h ¢X0GL ONId-0 d04 3JA004D
a ONId NIVIW 17
oe L J01S LNdANT WOdd Q3 1V3SNN
@ S % Py ™0 c \
e S o | E——— 1+5
° ° y
° - K
0g0®
N - 0
Sle] 2 ¢e 2
@ m —W-l SN
& B o7 < E
ez e le als| [
NEEE 8% [
= B Tl= |33
EEE e 2k 5
= [5°1°2 s o [2°] =
=218 I =
EI SEE
a | = = a
P = &gy - —
[ =3 g
S|z o5 E;
o ;
\\\\\\ LI~
S <
L L
S0 |0l oL 0L 2L b
6°€S QXL
Qerty 658 v-y °
M3IIA 301S LNdNI ° oo
3 #ed-DO-1-S8LSL

31

20200 SPINEA

NL$ZAG



uonosfoid (290 4'£419) 4912WElP BUIllY 10§ 8DURIS|0} PEPUBLULIOISY
@ _U *AONV14 dOLOW DNITVIS 404 NOILVANINOD3A
av Oy, D S1 @nbojeied ul |lenuewd Ajquuasse s ‘aoeds pajeasun -
KL imEm?mS WIN #1 w:gop&m:m_@...@% ‘6'Z1 35 ‘9N MaJ2s Jo sOd Qg YIM uolielsado Ul paxl 9 3snwi Buld uley
OW
-8 h
| L
‘._.. |
. e
N |
[XOLW ON7d 110 m
Vo e— TH oy y
0-0 49
Z| 7 @
L I —
4-4 &
Dmo.mQﬁI ¢N& 1671 WW
®n X081 BNIg-0 04 3JA00HD m
a ONTE NIVA 3 301S INANT W03 03IT¥ISNN
ooo,m.oo V8L
e = OO~ =~ | | BEI==== —] o= = ==~
e = o < 5o
o I o
% eee® ﬁ\ﬂ
IS 3 5
Nt ) H W
A w
7R ﬁ N
~J
o] <9 77 -~
2B 1S 2
R =N g
- |z Hli—————— RN
El =l _ ol2 |23
3 |2 |So b =272 |ee
=N CHE e
2 2 E
5| |7 % 5 5
i
N
[ W N €O e v s N 4" N K N s oo
1
] 6-LATNX 8 X i@ SOt ga g o
- R ’ €9
v ! v 67001
o | n -
2|9 M3IA 301S LNANI S V-V
| 9-9
518 #2d-D-1-S2ZS1

—

N{(ZAG

20200 SPINEA

32



(1}
... ...
¢ TwinSpin®
L) (]
...... .
Drawings

G series

NiZAG S0200 SPINEA 33



Drawings

........
3. Twin.Spin®
% eeo®

TS75-i-G-P9

SEALED
= e
5 S
a a
z S =
=
B <t
v —
=
2
=
(uibuay Butiny wws'e) (U9 ) oL@ -
Ao =
(43LIWVIT ONILLIS ON) 38 L =
(5 )eu 9ng8 =
=
(1zo-d- JLH OEQD oc
_ o0 .
< s ) = 7\‘ /
= I
LN 1
\T B | |
g =\ |
| |
-4 ‘ \
~| & il !
A ? LN, I I ! t
I | w1 [
o ‘ \ 7//’ ! %
n ! 38
T j ~ — ! — e \+ w
o =
(403 LH 6 o T g
E =
= (CEF TR S =
<‘[ e z90 w
(U1bua) Buiiiy wws) (°0 )Ly £9¢8 S
&
DC>
=]
>
S

TS75-i-G-P9

SEALED

(5887 Josr €

12xM5 V7-9

=©)

Projection

Main ring must be fixed in operation with 18pcs of screw M3, st 12.9, tightening torque 2.2 Nm

1.

20200 SPINEA

N{(ZAG



(1}
... ...
¢ TwinSpin®
[) (]
...... .
Drawings

TS85-i-G-Pl

SEALED

G series

OIL PLUG M3

SO,

Projection

A
r-——
[ 10°

S
,19 mM
= QH =
L j=)
= N 3
L o a
[am)] —
b7 S
) =
I & uz
=
J U
(uibua Bury wwg) (SU0) U g8 -
- =
(43LIWVIQ ONILLI ON) V378 18D =~
()L 15 =
=
(600 JBH LED
w0 e L [ X o)
Ql - S, % =
I i ‘ \ ]
T |
[F) \DL | | E
R ‘ — z
3 Al ‘ i C
S < \ ‘ o
o NS T I T g
‘ \ [e)]
! <
4 | n o
= 3 o
o = o =
1 w -~ = o
(o8 JuH UG o ¥ o
1o *
<F SEILg ' = 2
<C (Uibusy Bupl ww 9y (U9 )LU 5L - >
=
= s
& 3
2 6
co wn
o < 0D > = g
A A — [e0]
= ®
o S s
2
! | S
o - ©
O . | .
= - g° 9}
s @ Q
I Q ‘ o (o]
= £
omm = [an 1 °
| T g
—— &
D [0]
In o O
0o LU - o i ’ (@58 Josr v -
1 = 2, ) >
v < 2 DD £
mn
L = 2
l- 0 = c
T
>

NiZAG S0200 SPINEA 35



Drawings

........
3. Twin.Spin®
% eeo®

TS95-i-G-Pl4

SEALED
=
£ S
3 §
s 0 = °
g o
=
[am)
» _
) =
I &
=
O
|
[
(uibua1 Buriy wwg) (¥ )L s6@ =
— [ag
(4ILINVIQ ONILLIS ON) Y79 6@ =
(" Ygu 5 09 =
S Dl (g0 )LH STB[T N
o | \szoo o 7\ =
Il /
I \ 2
R 3 ~ 1]
-~ I ! I
= Y | ! [
= i A \ |
O T T
™ i N
|
| |
| 3
& =
0 ' - =
(o5 JLH 71 >
< TLeLg .
(an)
<< (UiBua) Buriy wwg) (297 )Ly 08¢ .
S
(o
I

TS95-i-G-Pl4

SEALED

183207

(@8 Jesr s

18 xM& V' 7-10

&
<
So
E
=
r
~
=
|
_ N se
B
m
| S
o)
|
l
—
[an ¥
o~

=©)

Projection

Main ring must be fixed in operation with 18pcs of screw M4, st 12.9, tightening torque 51 Nm

1.

36

20200 SPINEA

N{(ZAG



S91495 U
5 M@ uonasfold T~ WIN |'S ®nbiol Buiuaiybil ‘6ZL 1S ‘HIN Ma4s Jo sodg| yim uoliesado ul paxiy g 3snwi Bull UleiN
6|9 —
o V3 E9L
1
1))
== |
-
0 |
- -— 7 — -
: %
2
A ==
(o3 JLH 1L q 33
ONIE NIVIW S LX%6 DNIY-0 404 3JA004D
R i i
®n OAC
5 S H
oe
@ £ % S % W
HEE Sl ' S
° | K e 10 95§ -
il A ot ﬂ
mo BRESY Q. o 1 u o°
EEE - _ ST
FEEE HE=——t (g
NEID ™ |- ] Bk
2|5k |5 A RE:
Ww o -
2D oL = |1z
= ﬁ 3 =
| = > =
I
SOl L (;
L L| 8 g8
59
M3IIA 301S LNNI = V-V
J-) .
59
d3av3s
7Id-O-1-SlLLS1

37

20200 SPINEA

NL$ZAG



0
... ...
¢ TwinSpin®
... ...
Drawings oo

TS155-i-G-P19

SEALED

Projection

OIL PLUG M7x1
=©

(Uibua) Buriy wwol) (7097 )Lu 951

=
o
. . g
| - a
5 g
< :%) ] /
O o
w Ne) ) | !
¥ é i
9 ; L )
e -1 NN
L‘J ; L 6.3 - | ‘\\\ )
: — . 2 s
(4iBua1 By wuse) (V5 9518 : D
(3L3WYI0 ONILLIE 0N FT9sSp >
(qgo'é)*)gu %% X
gi (;o'g*)L‘H 08¢ g °Qs /]
o4 1 J’
|| ] | "ﬂ"
2 | 2 ‘
o T ‘ ‘ =
- O
o o T ‘ | ‘ -
: ‘ - zwa\\VL“\\\i§A\=\\\\
‘ % N : ; \\\\\\\\\‘
L {[L] 5 |
T \_ﬁ z u;
< b 5
<‘( (LZO'?}*)LH 2 L—" :
(gzog*jgu 0EQ 2
"reen g :
3
&
(U]

S
<
So
S
=
i
o
<
IS L

‘ So

() 2

@

<

o~
-
[anpe

(@98 Jsr 9

TS155-i-G-P19

SEALED

18xM8V 13-17
Main ring must be fixed in operation with 30pcs of screw M6, st 12.9, tightening torque 14 Nm

1.

38 S0200 SPINEA NiZAG



S2149s b
m % m uonasfold WIN S¢ @nbuol bulusiybil ‘6'ZL Is ‘GIN Ma4s Jo sod+Z Yiim uojzesado Ul paxi 89 3snwi Buld uley
5|03 ©
M 1 ) _U _.‘/u
alo
1
1
LN
@
(7)) , 0
- e
- T |
LXLW 9N1d 110 Q Q 7
) | o
N4 [ET kv
(1200 JLH 120 d m
V- 0%=aixoc
=
rw. ONTE NIV ¢*05L ONTd-0 404 JA008
oe
... .m ... D i ——
e 3 o
° - K
0g0®
AS &S S QU
= S o N =
& 3 ’\ﬂ v_n N
B T 07 SEE =
71z o2 s (e
° 15|38 R3S W
saEE Hii—/——— = JERERIRE
S il [ PN b |ob |29 |5a | P
=5 |8 HEIEE
e Els T E
on 3 W [l
I |F | TS 5
o p=]
2|3 E;
:
ZL-0L A BIKT S ST Y-y
oL
e d3av3s
oo #ed-DO-1-S8LSL
M3IIA 30IS LNdNI °
,06X1 J-)

39

20200 SPINEA

NL$ZAG



Drawings

o**%%
@
3. TwinSpin®

TS 225-i-G-P24

SEALED

4x90°

OIL PLUG M10x1

P2
=
=
&>
=
z T
= L
oS =
(uibua Bupiyy wug-zl) (O LU szed
(43L3WV10 ONILLI4 ON) VT vzzg
(994 99.%
o3 (o0 JLH 6L oS3
© ‘ 4 ‘
! I\ \
| H .
: |
! |
| " \
=N ! = !
& \ |
- | T
J |
|
|
o |
-
~l
N (0b: et 728
<&
| (08 )M 0L
<C :
“oLlg
e zeld
(yibua Buyy wwol) (7097 )Ly fel B
I I
omm i l \
I S
NO o
Ny
— |
< g
N3 E
P wn

MAIN RING

GROOVE FOR 0-RING 180x2

N
=)

2

(o]

5g

St

=
€99 m

-

=)

5
(=]
g3
3

=t

OIL PLUG M10x1

=©)

Projection

[

A

S
<
ce
=
E=
<
~
|
‘ So
-
~
o~
|

Main ring must be fixed in operation with 30pcs of screw M6, st 12.9, tightening torque 14 Nm

1.

40

20200 SPINEA

N{(ZAG



(1}
... ...
¢ TwinSpin®
L) (]
...... .
Drawings

G series

NiZAG S0200 SPINEA 4



Technical data

0%,

°
TwinSpin®
°

.....

2.2 GH SERIES

Tab. 2.2a: GH series rating table

Size

TS 85

TS5

TS 125

TS 155

Reduction ratio

47

85

55
123
49
99

53
109

Shaft inside diameter

Q

35

32

55

Rated output torque

T, INm] T
4]
130
180

260

acc

()

>

S

i)

9 o

QO O
-3 70
c O =i
95 =
© = @
s5 2§
SE £o
o 0 c “EJ
% 3 S
T g c 5
>0 > ©
[Nm] T [NmI]
82 205
260 650
450 900
650 1300

RIGHT TO CHANGE WITHOUT PRIOR NOTICE RESERVED

1) Mean statistical value. For further information see chapter Torsional stiffness, Tilting stiffness.

Load at output speed 15 rom and L, =12 000 hrs.
Moment M_value for F, = 0. If F, # O, see chapter 3.5.

Axial force F

value for M_= 0. If M_# O see chapter 35.

o o0

The parameter depends on the version of the high precision reduction gear.

o
ie)
]
o o
0] %)
0] =)
Q. >
: g
2 E
= S o
° £ £
3 % 5
& = S
n, [rpm] N [reml LM [arcmin]
2 000 S <l
4500
2 500
2 000 <1
3 500
2 400
2 000 <1
3800
2 600
2 000 <1
3200

Hysteresis

H [arcmin]

<l

<1

<1

<1

Angular transmission

error 6)

)

No-load starting torque (max.)

8

[arcsec] [Nm]

72

60

60

30

0.6
04
0.6
05
15
13
14
1

The values of the parameters are informative. The exact value depends on the specific version of the high precision reduction gear.
Temperatures of the high precision reduction gear lower than 20°C will cause higher no-load starting or back driving torque.
Instantaneous speed peak that may occur within the working cycle.
10) For more information please contact the SPINEA sales department.

2)
3)
4)
5)
6) The parameter depends on the version of the high precision reduction gear, ratio and lost motion.
7)
8)
9)

42

20200 SPINEA

N{(ZAG



0%,

°
TwinSpin®
°

.....

Technical data

G series

Tab. 2.2a: GH series rating table - continued

@ F
s N =
g — M - @ g
9 = = c o) =
o 3 3 > 3 — el
S £ LG 4 S £ T 5 -
c 5 £= = £ £ 8 P
5 S 25 2 g 2 2 2 5 =
= @ 3 5 - e ® £ 2
o 5 . 8o = K 2 2 2 5 o
N ) A 27 o = 0 0 0 o )
n @ > ) > o < < < £ =
| m m/arcmin m/arcmin m m “Kgm m [Kg
i [Nm]  k [Nm/arcmin] M, [Nm/arcmin] M_[Nm] M__[Nm] F_[kN] F, _[kN] I[10%kgm?] Ikal
TS 85 7 2 95 85 10 15 2 6.4 0.29 13
85 36 9.7 : ' ‘
55 42 21
TS 115 200 275 550 4 125 0.65 2.9
123 9l 25
49 40 28
TS 125 280 440 445 57 17.7 1.06 36
99 95 29
67
TS 155 53 10) 69 900 820 1640 8 26 56 6.9

IMPORTANT NOTES:

Load values in the table are valid for the nominal life of L, =6 OO0 [Hrs].

High precision reduction gears are preferred for intermittent cycles (S3-S8): the output speed in applications is inverted-variable.
The continuous mode cycle (S1) is needed to be consulted with the manufacturer.

If the output speed in application is less than 0,1 rom please consult with the manufacturer.

The values in the table refer to the nominal operating temperature.

Please note the temperature on the gear case that should not exceed significantly 60°C degrees.

The ratios highlighted in bold are recommended by SPINEA as optimal versions in terms of price and delivery.

NiZAG S0200 SPINEA 43



Drawings

........
3. Twin.Spin®
% eeo®

TS85-i-GH-H21

TS85-i-GH- H21

D Ot

MAIN RING

Z
> i
w o
(] =]
> I
N —
=
mn=
(8 )Lu 98¢p
(@ILINVIT ONILLId ON) 8°48%
(0% )Lu 95
(o5 JLH 290
VE=447)
. 30|20 sl
y = ‘ XS
|
A ‘ il
= -~ ‘
Sy oS !
n ~ ‘
~| © LA
4 = S
LN o~ ‘ b
|
g
1
N
9
— (zo3 )LH 1268
<‘E (U8 )Ly oE®

12xM5V 6-9

AR

(% )Ly 5L

OIL PLUG M3

SO

Projection

Main ring must be fixed in operation with 18pcs of screw M3, st 12.9, tightening torque 1.8 Nm

1.

44

20200 SPINEA

N{(ZAG



Sa142s b

0 n WIN 'S ®nbiol Buiuaiybil ‘6ZL 1S ‘N Ma4s Jo sodg| Yim uolzesado ul paxy aq 1snw Bull Uiejp
m N uonoafoid
2T ©>
| T
O
1
1
n
-
—
0
[
ONTS NIVIA
®
£
a
oLe
SN S
LES E
..0... A,uLO
SR
—_ =
o3
ESEEES
=
5oz 5°
S i S
=
>
=
m
—
S
_ EWXD
—
< MITA 30IS LNdN|
d-d
SEH-HO-1-SLLSL

20200 SPINEA 45

NL$ZAG




0
... ...
¢ TwinSpin®
... ...
Drawings oo

TS125-i-GH-H32

Projection

SO

=
w mM
> =
g @©
b
faa
|2
m Z
("9 )y szLg 9
(43LINVIQ ONILLIA ON) VSSaLg i
- (*"8 )su 08¢ =
. = o 0€
; ! L JLH 29 =
3 e i (eob: JLH 2998 e ”
o ‘ =
) | | =
& [ 1] i Ft =
& _
< , IS
) |
o~ 04
= 4
(= el
3
-
=
<C
|
<C

18%20°

TS125-i-GH-H32

18 xM6V¥8-12

Main ring must be fixed in operation with 18pcs of screw M5, st 12.9, tightening torque 8 Nm

1.

46 S0200 SPINEA NiZAG



(1}
... ...
¢ TwinSpin®
[) (]
...... .
Drawings

TS155-i-GH-H55

G series

SO,

Projection

z
=
o
=
&
J =
Iz
=
- [Ss)
(44bua) Butyily wwste) (09 )y 9oL 2
(J3LIWVIQ ONILLI4 ON) "§9 56 z
(™90 )8u oLl =
S (ceo3+ JLH 062
‘
) \ J_ _
@Ol . j N é
o ‘ Z ‘ | =
g ! I ‘ %
. \ \ ‘ =
= o ‘ ! ‘ S
o~ N 1 ‘ | -
&
i |
e \
|
+— = ]
g <
=t i 2 (] f
| () 255 = \
< €0°0- . )
(U)LY 6'59¢%
x|
[ [e=]
§SSELD Gt -
70°0- = O«
(Uibua) Bury wwol) ("9 )LY 9ELgD = |
= (o

TS155-i-GH-H55

=
S
o
=
o
=]
=
©

Main ring must be fixed in operation with 18pcs of screw M5, st 12.9, tightening torque 8 Nm

1.

NiZAG S0200 SPINEA 47



Schweiz

Nozag AG
Barzloostrasse 1
CH-8330 Pfaffikon/ZH

Telefon  +41 4480517 17

Aussendienst Westschweiz
Telefon  +4179 886 76 83

www.nozag.ch
info@nozag.ch

03 7 2020






